ELA Test 1 20. They her

L B 21. Hive
2' D 22. Subject: Olivia Verb: is dancing
3. Skilful 23.B
4 Ninth 24. A
. Nin
25. Broth/ froth, too/stew, etc
5. Several
) } 26.B
6. Fierce ferocious . )
7 Polite rude 27. Putrid/grotesque/noxious
8. 28. Proud, I proudly took my stew to
9' C class
16 B 29. No, because he didn’t do what the
1 1' B teacher asked
' .B
12.D 1 250
13. December Judy 3 2' b
14. Y 1 )
e, math ., 33. Yes, so he will know when to plant
15. “I am in standard three. . ] .
16.C in order for his crop to get sufficient
17' C water/ less work for him to water
) 8. C plants.
' 34. June, because this month has the
19. We her )
most rainfall.
Mathematics Test 1 18. 8
. D 19. $425 profit
’ A 20. 468
3' C 21.50 yrs
4' B 22.1 hr 15 mins
5' B 23.Side 3
' 24. 42
6. A
7 25.25¢g
8‘ B 26.
9' c 27. The shape of the faces
) 28.6
10. What is the date of the 5" Saturday? 20 5
C .
LB 30. 35
1.C 31.7
I 3' B 32. B measured in metres which is a
' longer measurement than cm.
14.C
33, 56m?
15. 16hrs ..
. 34. 6 straws 6 plasticine
16. 3 circles 35. 5 blocks. 5
17. $6 + 0 DIOCKS,
ELA Test 2 11.C
1. B f2.D ) )
13. Eric Arima
2. D 14. No, Spellin
3. Disguised 15' A > SPEUINg,
4. Planning 16‘ B
5. Heights i 7' B
. Pl '
3 C e;deld;efged 18. You’ll they’re
8. omplex easy 19. He’s isn’t
' 20. Us
9. € 21. So

S
w



22.

23.B

24. A

25. 0ld, long grey beard

26.C

27. Horrible

28. Because she didn’t want Sal

changing himself for anyone.

Mathematics Test 2
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. 406
. 6192
.9/12
.3 hrs
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ELA Test 3

C

A
Embarrassed
Witness
Slippery
Urban town
Fiction factual

XNk

SIS
> > Q>

. Meego Dr.

. Night, teeth

. “Let us paint a flower.”
.B

A

.D

. They their aunt — her
. He their

N — = = = =
S O 0 0 N Dn A~

29.

30.
31.
32.
33.

34.

19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

31.
32.
33.
34.
35.

21.
22.
23.
24.
25.
26.
27.

28.

29.

30.

31.

32.

33.

34.

Sal the Skunk. It’s a bout a skunk
named Sal or any reasonable
response

B

Animal Lounge — Eyes in the sky
C

Cakes, cookies and Pies. Because
these required to be baked

Any reasonable response

765

40

50

8:20

3cm?

240

A rectangle and 2 circles

29, 16

Non fiction 7, fiction 4, fairytale 5
35

Bakery B. At both bakery she will
spend the same amount.

48

384

Increase each end by 1 block. Add 4
18

Joe because he scored the most in the

spelling test.

Basket

Subject: Jerome Verb: was riding
C

B

Like stars that twinkle in the night
B

Through ups and downs, like a
seesaw ride — through good times
and bad, friendship will not die.
Play, go on vacation, have sleep
overs, etc

Friendship because the poem is
relates to friendship or any
reasonable response

B

The Ballet Shoes

C

The lollipop tree because it’s a tree
fill lollipops which is a sweet.
Children because the stories are for
children or children oriented.



Mathematics Test 3
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.13

. 4 blocks

. $4

.18

. $223 profit
. 451

.40

.50

. Side 4

ELA test 4.
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D

B

Business
Pursued
Beginning

Real genuine
Natural artificial

.C

. Ibis Caroni

. Week, Jane,

.D

LA

.C

. Doesn’t wouldn’t
. don’t won’t

. his

24.
25.
26.

27.
28.
29.
30.
31.
32.

33.
34.
35.

425

Cylinder 2 edges 3 faces cone 1 edge
2 faces

15

24

5

11

142

B because it is measured in metres
which is a longer measurement than
cm

25cm?

7 straws 7 plasticine

Correction:

Number of Vehicles
Vehicles Tally No. of
Vehicles

Cars 20

Vans 15
Trucks 10
Buses 5

Therefore: vans 3 blocks on graph. Each
block represents 5 vehicles.

21.
22.
23.
24.
25.

26.
27.

28.

29.

30.
31.
32.
33.
34.

because

C

B

Herbivorous, short stout beaks,
strong breast muscles, etc

Feathers

National birds/ both found on Coat
of Arms/ protected by law

Yes because they can help with crop
pests

The National Birds of Trinidad and
Tobago because the main idea is
about these birds or any suitable
response

B

NE

C

In the Caribbean

To know directions, be able to
visualize where places or objects are,
etc



Mathematics Test 4
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. 306
. 6396
. 14/16
. Shrs
.$1185

ELA Test 5
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B

C

Enjoyable

Doubtful

Quarrel

Lavish extravagant

Minor major/ leaving entering

O w» U

. Day September

. Evening, homework,
. “I am having lunch.”
.B

.C

.D

. We it

. Her hers

20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.

32.
33.
34.
35.

21.
22.
23.
24.
25.
26.
27.
28.

29.
30.
31.
32.
33.

34.

123
250g
6:55pm
Icm?
150

Blue 3, green 6 red 9 yellow 15

165

106

Shop B because 1 cupcake cost $3 so
10 cupcakes will cost $30 which is
less than Shop A where 1 cupcake
cost $4

72

$240

8 squares. Increase by 2

Zen because he scored the highest in
the Science Project.

Crowd

Subject: Maria Verb: purchased

B

C

Tiny granules, grainy shores

B

Any suitable response

Yes, it whispers stories of endless
fun

Suitable response about sand

C

One

B

Passengers wanting to travel to and
from Trinidad and T obago, etc. so
they will know date and time the
vessels are sailing.

Communicate a single sailing at a
time/ include fees/ state if vessels are
for passengers only or cargo only or
both, etc



Mathematics Test 5
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. 106

. 8 parts
. $3
.20

ELA test 6
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A

B

Weird

Speciality

Loves

Comprehend understand
Exterior interior

Qa» -

. Adam Emperor

. Tomorrow, mango,
.B

LA

.B

. Won’t couldn’t

Mathematics Test 6

A e
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19

20.
21.
22.
23.
24.

. $185 loss
910

45

25 mins
4cm x 4 cm
85

25.

26.
27.
28.
29.
30.
31.
32.
33.

34.
35.

19.
20.
21.

5 faces, 6 vertices, 9 edges
14

5

40 mins

Ava 22 anna 18

121

20 cm?

A because 105m a larger
measurement than B 121 cm. metres
is greater than cm.

6 straws 6 plasticine

5

They’re they’ll
Theirs
But

22.

23.
24.
25.

26.
27.
28.
29.

30.
31.
32.
33.
34.

10.
11.
12.
13.
14.
15.

16

C

B

Trumpets play, cannon boom, doves
are released

A

To take part in

Cycling, swimming, badminton, etc
The Olympic Games. It is mainly
about the Olympic games

C

Saturday 10am

D

Chow sale, cookbook raffle

Date, contact number for more
information

QwoaOwOn

903
. $625



17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.

6/10

7 hrs

$1440

12

36

4:15

11cm?

210cm

2 triangles 2 rectangles

Banana 8 apple 4 orange 6
strawberry 10

ELA test 7
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C

B

Loneliness

Education

Possible

Convinced persuaded
Expanded shrink

W awao

. Thomson Caribbean

. Market, tomotoes,

. “When will you visit me?”
.B

LA

Mathematics test 7
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B
A

C (7x 1000)+(3x100)+(2x10)

— square

. 104

29.
30.
31.

32.
33.
34.
35.

18.
19.
20.
21.
22.
23.
24,
25.
26.
. Because his toys are small
28.
29.

27

30.
. Any of the ingredients
32.
33.

31

34.

16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.

748

39

Stall B, at stall B 1 Ib will be $4
therefore, 20 Ibs will cost $80 which
is less than stall A since at stall A 1 Ib
is $5, 20 1bs will cost $100 which is
more.

30cm

$990

Increase by 1 circle

School D because school D obtained
the highest score.

C

He it

She her

Herd

Subject: Anny Verb: was planting
C

B

Ships, houses, trees

A

Happy. To keep me happy all the day
And sometimes sent my ships in
fleets. Fleet

C

B

Yes, so you will know if the product
is good for your consumption

Yes, so you will know if its healthy

4 parts

$9

28

$1010 profit
472

75

55 mins

length 8 width 2
65

5 faces, 5 vertices, 8 edges
6 children

6

50

6 friends

57



32.

33.

A. the distance around A (60cm) is
more than the distance around B
(40cm)

22cm?

ELA test 8
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17.
18.
19.

C

B

Difficult
Accomplish
Bicycle

Filthy dirty
Different same

s Bvilvllv

. Acquaman Town

. Zoo, giraffes,

. “When is it going to be lunch?”

. He watered the plants in his garden.

C
A
D
He them

Mathematics Test 8
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. 405
192
. 8/12

. 2800

34.
35.

20.
21.
22.

23.
24.
25.

26.
27.
28.
29.

30.
31.
32.
33.

34.

20.
21.

22.
23.
24.
25.
26.
27.
28.
29.
30.

31

32.
33.
34.
35.

7 straws 7 plasticine
Red 12 blue 16 — in graph 3 blocks
each block represents 4

He her

Fleet

Subject: Samantha and Andrew Verb:
are going

C

C

Half animal half human, has two
horns coming out from his forehead,
etc

B

To transform

Deer

Yes, he protects the plants and
animals of the forest

B

St. Joseph, C3, Arima

C

2 for $5. She will use all $50 since
she wants to spend all on flour.

To attract customers, when people
see the great deals they will want to
buy.

12

3x15kg =45kg  45kgx 1000 =
45000g 45000+500 = 90 bags
3:45

12cm?

52cm

1 square 4 triangles

Yellow 8 red 4 blue 6 green 10
876
Mia $28 Sue $22

. Vendor A. at vendor A the cost of 1

corn is $5 whereas at Vendor B the
cost of 1 corn is $6. So, the cost of 8
corn will be cheaper at vendor A.
52cm

$1152

15 acorns increase by 3

Eli because he scored the highest.



ELA test 9
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B

D

Serving
Tying
Thankful
Symbol sign
Guest host

ISt

. Friday, stories,
. “How are you today?”
LA

.B

.D

. They them

Mathematics test 9
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16.
17.

A
D 5670

6 circles

$1

ELA test 10

A e

C

B

Terribly
Thoughtful
Equipment
Calm tranquil

20.
21.
22.
23.
24.
25.
26.
27.
28.
29.

30.
31.

32.
33.

34.

18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.

33.
34.
35.

o > >

We it

Litter

Subject: Kassie Verb: was given

B

A

Phone alone, etc

B

Cunning/clever

Because 8 is dinner time for him
She was eaten by the shark. The
moon will not shine on your beauty
again.

B

Because there is a time frame to get
his deal

C

Tropikist because for 2 persons for 2
nights the total cost will be $2980
which is $10 cheaper than starfish.
Newspaper internet, etc

40

190 loss
640

148

55 mins
L8xW2
1800

O vertices, 2 edges, 3 faces
25

6

25

9

240

B because metres is a larger
measurement than cm
22cm 2

5 straws 5 plasticine

2 blocks 5 fruits

Identical different

. Potter Luna
. Saturday, music,



15.C 27. Eggs, larva, pupa, adult butterfly

16.C 28. Yes, so that organisms can grow to
17.C reproduce to keep the species alive
18. Doesn’t wasn’t 29. Life cycles, etc. the passage is about
19. I’'m won’t life cycles living things.
20. Herself 30.C
21. Because 31. Friday
22. 32.D
23.C 33. Traditional Carnival Characters,
24.D Friday 9" February
25. Water sunlight 34. Yes, to keep track of events and
26. A manage time
35.
Mathematics test 10 19. $1775
20. 12
I B 21.20
i é 22.7:45
’ 23. 4cm?
4. C 24.20m
> € 25. 1 rectangle 4 triangles
6. D
26.
« b
28.
?0 g 29. 468
1L A 30. 150
31. Stall A. At stall a the cost of 1
12.B . .
13 A pineapple is $4.
14.D 32. 16cm
15. 204 33. 8576
16. 940 34
7. 8/16 35. School D. because they scored the
highest in the Marching.

18.2



